REER (

S (LEHIRR) )

| THETAT 4 | E&TH |
[ ez 20:25 ]
EA
=) 5 S B
ZELAHEER 25,359 K| 28,524 K| 53,883 X
BREEZH 13,246 N[ 14,521 K| 27,767 X
PR LAREEHR 6,896 X 6,607 N[ 13,503 A
HBRREER 6, 244 X 7,822 N[ 14,066 A
THEEREER 106 X 92 A 198 X
ZEER 12,113 X[ 14,003 K| 26,116 X
BEX 52.23 % 50.91 % 51.53 %
=5
X5 5 S B
ZELAHEER 21 A 38 A 59 A
BEEZH 2 A PN 3 A
PR LAREENR 0 A 0 A 0A
HBRHREER 0 A 0 A 0A
THEEREEH 0 A 0 A 0 A
ENNEEREEY 2 A PN 3 A
HEFREEH 0 A 0 A 0 A
ZEER 19 A 3T A 56 A
BEX 9.52 % 2.63 % 5.08 %
ER+ESN
X5 5 S B
ZELAHEER 25,380 X| 28,562 N| 53 942 X
BEZH 13,248 N| 14,522 K| 27,710 K
ZEER 12,132 X[ 14,040 K| 26,172 K
BEX 52.20 % 50.84 % 51.48 %
HEEL | FaMEZE
BiaE S | 0968-75-1157
EIERZI 20:34




